

$$\log_{mn}^m + \log_{mn}^{mn} = b \rightarrow \log_{mn}^m = b-1 \rightarrow \frac{\log_n^m}{\log_n^m + \log_n^n} = b-1 \rightarrow b = \frac{\alpha}{\alpha+1} + 1 \quad (1)$$

$$[b] = \left[\frac{\alpha}{\alpha+1} \right] + 1 \rightarrow [b] = 1$$

$$\text{الف) } \textcircled{I} \log_{\frac{1}{p}}^{\alpha} \neq 0 \rightarrow \alpha \neq 1 \quad \textcircled{II} \frac{\alpha}{\log_p^{\alpha}} < 0 \quad \begin{matrix} \alpha & 0 & 1 \\ p & + & - \end{matrix} \quad [0, 1) \quad (2)$$

$$\textcircled{I} \cap \textcircled{II} \rightarrow [0, 1)$$

$$\rightarrow \textcircled{I} \alpha^p - \alpha - p > 0 \rightarrow (\alpha-p)(\alpha+1) > 0 \quad \frac{-1}{+1-1+} \quad (-\infty, -1) \cup (p, +\infty)$$

$$\textcircled{II} \alpha^p - 1 > 0 \rightarrow \frac{-1}{+1-1+} \quad (-\infty, -1) \cup [1, +\infty)$$

$$\textcircled{I} \cap \textcircled{II} \rightarrow (-\infty, -1) \cup (p, +\infty)$$

$$\log_{\alpha}^a = t \rightarrow pt + \frac{1}{pt} = p \rightarrow t^2 - pt + 1 = 0 \quad (pt-1)^2 = 0 \quad \rightarrow \frac{1}{p}$$

$$\log_{\alpha}^a = \frac{1}{p} \rightarrow \frac{1}{p} \log_p^a = \frac{1}{p} \rightarrow a = p$$

$$\log_{\frac{a}{p}}^a = \log_{10}^1 - \log_{10}^p - \log_{10}^p = -1 \quad \log_{\frac{a}{p}}^a = p \log_p^a = -1 \quad \log_{10}^a = \log_{10}^1 - \log_{10}^p + \log_{10}^p = 1 \quad (3)$$

$$p\alpha^p + 1\alpha - 11 = 0 \rightarrow \alpha = \frac{11}{p} \quad \left| -\frac{11}{p} - \frac{p}{p} \right| = \frac{14}{p}$$

$$\log_{14}^p + \log_{14}^a = \frac{1}{\log_p^p + \log_p^p} + \frac{1}{\log_a^p + \log_a^a} = \frac{1}{p/11} + \frac{1}{1/a + \log_{14}^p} = \frac{15}{19} \quad (4)$$

$$\log_p^p = \log_{10}^p = p/11 \rightarrow \log_a^p = 14$$

$$\log_{10}^p + \log_{10}^p = \frac{1}{\log_p^p + \log_p^a} + \frac{1}{\log_p^p + \log_p^a} = \frac{1}{p/10} + \frac{1}{p} = 1.4 \quad (5)$$

$$\log_{10}^a = \frac{\log_p^a}{\log_p^p} = 1.4 \rightarrow \log_p^a = p/4$$

$$\log_{\frac{p}{k}}^k + \log_{\frac{p}{k}}^m = \frac{p m + p}{k} = \frac{p}{k} (m+1)$$

$$\log_{\frac{p}{k}}^k = m \rightarrow \log_{\frac{p}{k}}^m = m \rightarrow \log_p^k + \log_p^p = pm \rightarrow \log_p^k = pm-1 \rightarrow \log_{\frac{p}{k}}^k = \frac{pm-1}{p}$$

$$\log_{\frac{p}{k}}^k = \frac{pm-1}{p}$$

